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Elastic collisions between particles: The relativistic and the Newtonian point of view

Synopsis

In this work, we compose the simulation of two point-particles elastic interaction, in the contexts
of the Newtonian and relativistic mechanics. The corresponding theoretical models are developed
for the special case where the particles are merged into one point -their center of mass- and then
after their interaction are emitted with new constant velocities (®. During this process, each
particle does not lose its identity; the (rest) mass of each particle remains invariant. This simple
situation of emerging and emitting particles is a necessary restriction for the composition of the
relativistic model: it implies that in the center-of-mass-frame there is a time-moment that the
velocities of the particles are zero and the spatial parts of the four-forces by which the particles
interact, are of the Newtonian action-reaction form. Hence, one can imply the four-momentum
conservation during the particles' interaction, in any inertial-Cartesian reference frame.
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momentum conservation for a system of particles
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Paragraph 1: The four-force and the Minkowski equations of motion

Consider two particles P1 and P2 with masses m,, m, respectively, moving in the Minkowski

space-time continuum M. In M we have defined an inertial, Cartesian coordinate system, named
"Laboratory System (LS)". According to the LS, P2 has been placed at the point (O, 0,0,0) of M

and P1 at the point (0,-a,0,0), a>0

The clocks set at the spatial points of M are all synchronized, and they indicate the world time t
(4:5) of M in the lab-system LS. The infinitesimal interval at any point of M is:

As = (ngAx”AxV)l/z

...where:

10 0 0

lo-1 0 0

9] = 0 0-10

00 0-1
Hence:
As = (CAE? - (AxX') - (A - (Ax°) " = gAt

L \-1/2 _

V(v) = (1 - "C'z"j V= % = (x4, %2, 5%), v = 7] = O + (2 + ()

It is assumed that P1 and P2 interact only when their spatial distance, at the same time moment,
is less than an infinitesimal positive quantity €. Their world lines are solutions of the Minkowski
equations of motion (2:3):

Particle P1:

CZE = K,,* (1.1a)
Particle P2:

ZI;Z: =K,* (1.1b)

With 71,7, we symbolize the proper time of the particles, and with P, P, their four-momenta
(12345, K,,K,, are the Minkowski forces between the particles P1 and P2. The Greek indices take
the values 0,1,2,3.

For a particle with mass m, the four-momentum P is related to the four-velocity U: P =mU

H i J .
The components of U are (2°); U* = C;L, U =yc, U =y Cz; =yv’
T
The square of the norm of U is constant: (U,U) = g, UTU" =y’ (c* -v*) = ¢’
Hence, it is implied that: <Z—U,U> =0and (U,K)=0, or:
T
3
K-S KV =0 (1.2)
=

The four-momentum is called and "energy-momentum four-vector"; this is because its
components can take the form:

po :mcyzgl p’ zymvf :ypj

2
..where E = L is defined as the energy of the particle and p =mv is the momentum
V-V
1_?

according to the Newtonian definition.



By considering as free parameter the world time t, the equations
of the motion take the form:

d 1 d . .
E(n‘hCY(Vl)) = mK(IZ)O 7 E(mﬂ/(vl)vlj) = mK(lz)J (1-3a) _ .
! ! PI— P, X
d 1 d : 1 .
—(mey(v,)) = ———K,,.0, —(my(v,)v,”)=——K,,/ (1.3b)
dt ( 2 2 ) Y(VZ) (21) dt ( 2 2772 ) Y(Vz) (21)

The initial four-velocities of P1 and P2 are, respectively:

UL =y(vy)c, UL =y(vy)ev,, U =0,U°=0

..where: v, >0

U=c,U’=0,U°=0,U"=0

In the case of our model of the "elastic collision", we assume that
the Minkowski force acting from each particle to the other is zero Figure 1: Configuration of the

everywhere in the space-time continuum, except for an  gystem in the context of our
infinitesimal neighborhood around the event X, with coordinates  model.

(ct,,0,0,0) (figure 1).

Return to the contents

Paragraph 2: Collision and emission of particles at a point of the Minkowski space

In the treatment of any many-particles problem like the collisions, a fundamental quantity is the
total momentum of the particles. In Newtonian Mechanics, it is defined as the sum of the
momentums of each particle. This summation is accomplished by the parallel transport of the
momentum vectors at a specific point of the Euclidean space they are moving. This transportation
is legitimate because in Newtonian Mechanics the space is Euclidean and the time is an invariant
quantity, irrelevant of space. What about the Minkowski space-time continuum?

The idea of the parallel transport of a vector is possible to get generalized for any space-time

continuum determined by any metric tensor [g,, | ®*%. Anyway, for the case of the Minkowski

space and an inertial-Cartesian coordinate system, it can be proved (243) that the coordinates of
the parallel-transporting vectors do not change; we can define the total momentum of the
particles as the four-vector P with coordinates:

P+ = Plu + qu or: P° = C(m1Y1 + szz)/ P’ = m1Y1V1j + mzyzvzj

..where: y, =y(v,),y, =y(,)...

The Minkowski equations of motion are covariant, i.e., their form is the same in any inertial
Cartesian coordinate system. Let us write 1.3 in the center-of-mass inertial system (CMS) of P1
and P2. This reference frame is defined by the conditions: a) the CM system is an inertial Cartesian
coordinate system, b) the total spatial momentum of P1 and P2 is zero. Assume that the primed
quantities refer to the CMS; then, we write:

PY =PI P =myvy +myw, =0 (2.1)

Symbolize t' the world time of M in the CMS and conjecture that at the time t; both particles are
at their center of mass and their velocities equal to zero: the particles "merge" into their center
of mass and then "emerge" to different directions maintaining their masses m, and m,.

The interaction of P1 and P2 takes place in an infinitesimal time-interval (t“(’J -t +£), e >0 In

this interval the Minkowski forces acting on each particle have the form of a delta distribution

around t; We can write:
T = LKt ty), LRy
dat’ y(v;) at’

..where K|,’, K;,’ are constants.

1
y(v3)

Ko (t' - t5)



By adding these relations, integrating from t; - ¢, to t; +¢,, €,&, >0 and remembering that at
t; the velocities of P1 and P2 equal to zero, we obtain the subsequent equations:

(R +P)y, — (PO PP), =K K
(e P), - (R4 RY), )= 0= Kid K =0
Hence, the total spatial momentum is the same before and after the interaction:
(qu + PZ’J)L‘6+£1 - (Pl,] + PZ’J)té—EZ =0 (2.2a)
...and:
K +K,7’ =0 (2.2b)

Assume that the double-primed quantities symbolize the situation of the system after the P1-P2
interaction, in the CMS. Then, from 2.2a we infer that:

my (Vv + my(vivy = my(vivy + my(vivy (2.2¢c)
From 1.3, 1.2, and 2.2b, it is implied that:
i(m cy(vy) + myey(v5)) = Lokl koo i( € yi__¢ v"'jK’ o(t'-ty)
[ 2 (7D I 7 (79 R = {7 (70 R 7 (79 N B °
By integrating from t; —€, to t; +¢,, £,&, >0 we obtain:

=0

3 1 . 1 . _
m,cy(v]) + mecy(vy)) - (m,cy(v)) + mcy(v))) =c [ e 2 - V'J]K' J
( 1 1 2 2 ) ( 1 1 2 2 ) _721 Y(Vl) 1 Y(Vz) 2 12 -

We conclude that the total energy of the system is the same before and after the P1-P2
interaction:

mycy(v;) + mey(vy) = mey(v)) + myecy(v3)
E.E_E. B (2.3)
c ¢ ¢ c

or.

From 2.2c and 2.3 we deduce that in our model, the total four-momentum is invariant during the
collision, for any choice of the inertial Cartesian system of reference.
P1 and P2 merge in their center of mass. In the CMS, this happens at the time t; . At this moment,

both velocities of the particles equal to zero. The coordinates of the four-momentum for each
particle are (y(0)=1):

P! (ty) - m,(c,0,0,0) and P, (t;) - m,(c,0,0,0)

Let t, be the corresponding moment in the lab-system (LS) that P1 and P2 merge (figures 2 and
3). Let [/\“V] be the Lorentz matrix relating the lab-system with the center of mass system. The

spatial axes of the CMS and the LS are parallel, and CMS moves along the x' axis. Hence, the
matrix [/\pv] has the form:

coshf -sinh6 0 O

—-sinh@ cosh6 0 O
NY|= 2.4
[ “] 0 0 10 (2.4)
0 0 0 1

The coordinates P* of the four-momentum for each particle in the lab-system at ¢, , are calculated
by the equations: P¥(t,) = P"(t;)N\*

We obtain:

y(v1)|t0 = y(v2)|t0 =/, y(vl)v11|t0 = y(vz)vzlL0 =cN' =>v'=v, v?=v>=0,v>=v,>=0

We conclude that in the lab-system, at the time t, when P1 and P2 merge, their velocities are
equal.



The spatial part of the equations of motion, in whichever inertial Cartesian reference frame, are
of the form:

9 (myw,) = LR5(t-t,)
dt 1ri’i Yl 12 0
...where: K, + K,, =0 and: v,(t,) = v,(t,)

In the particular inertial frame, define the "angular momentum" of the system, by the usual in
the Newtonian Mechanics, way:

L :f‘1><I51+I:2 ><I32 = x(m1y1\71)+F2><(m2y2\72)

d

def Fia E

- 1 -
(mzyzvz) = Y—K215(t - to) =F

def 21
2

It holds:
a. . - . =
Ezlxﬁz*'erFm

By integrating with time in the interval [t, - €, t, + &, ], and taking into account that:
F1(t0) = Fz(to)l Y(V1)|t0 = Y(V2)|to
...we obtain the equation:
[(t, +&)-L(t,~ &)= [lfl <K+ 2F XKZIJ -0
Yi 2 t=ty

We deduce that the "angular momentum" L of the system is conserved. If the initial positions
and velocities of P1 and P2 lie on a certain plane, the motion of the particles takes place on that
plane.

Return to the contents

Paragraph 3: The relativistic model of two-particle elastic collision

In our model, the lab-inertial system is symbolized (O,x). Point O is the origin of the spatial
coordinates; its world-line is determined by the curve (ct,0,0,0) <« O of the coordinate space

R* The parameter t is the world time indicated by all the clocks placed at the spatial points of
the Minkowski space M.
At t=0, particle P1 is at the point B, € M with coordinates (0,-a,0,0), a > 0. P1 is moving toward

O with constant velocity v, ; its world line for t <t, :vi' is determined by the curve of the
0

coordinate space with the analytic expression:
X (t) = (ct,—a+v,t,0,0), t <t (3.1a)

Particle P2 is at rest at the origin O of the lab-system. For t <t,, its world line is determined by
the curve of R*:

Xp,(t) = (ct,0,0,0), t < t, (3.1b)
When P1 reaches infinitely close to O, the particles interact, and they emerge with final velocities

V,, v, Their world lines in the coordinate space R* for t > t, = =~ are of the form:
0

X, (t) = (ct, v, (t - i},vly (t - ij,o] (3.1¢)
VO VO

X, (t) = (ct,VzX (t-ij,vzy [t—i],OJ (3.1d)
VO VO

We are to determine the velocities of P1 and P2 after their interaction. This is accomplished by
implementing the following steps:
Step 1: Calculate the four-momentum of P1 and P2 in the CMS before their collision.



Step 2: Calculate the four-momentum of each particle in CMS after their collision and derive the
analytic expression of each world line in CMS.

Step 3: Calculate the four-momentum of P1 and P2 in the LS after their collision. Derive the
analytic expression of the particles' world lines in LS.

Step 1

Derive the Lorentz transformation connecting LS with CMS. Then, deduce the four-momentum of
each particle in CMS before their collision

We use alternatively the symbolism: P =P, P?=P,, PP =P,, v' =v,... etc.

The four-momentum of each particle in LS before the collision is expressed by the following
equations; see ref. 4 and ref. 5: Physics Problems (sch.gr)

Fort<t =2 .
O —_ T
VO
E
R = eo?l"" eP,, E = m1C2Y(Vo)I P, = my(v,)v, (3.2a)
P, = eo%, E, = mc? (3.2b)

..where {e,, €,,e,,&;} the basis vectors of the tangent vector space at any point of the Minkowski

continuum M in the lab-system.
In CMS, the total spatial momentum of P1 and P2 is zero. For t <¢;:

P.+P,=0 (3.3a)
The analytic expression of the Lorentz transformation connecting CMS and LS is written:
X" =Xx"N" 4+ x,! (3.3b)

...where [/\ 'v”] is the inverse of the matrix [/\V“J (relation 2.5). We must determine the parameter

6 and the constant quantities x,* 1 =0,1,2,3

Under the coordinate transformation with a Jacobian matrix given by 2.4, the basis vectors of the
tangent vector-spaces of M, are transformed according to the relations (+):

' o_ VAL U _ v _ L] ro_ v
eAx" =e AN =eAx" = e, =e N0, e =e,
Hence, from 3.2a, 3.2b, 3.3a, we obtain:

S A R R A R
C C C
E, .oE , E; ,
o - Enmy Jee A B n )0
tanh6 = —c Fie (3.4a)
E +E,
E E . E
== N RAY P = A RS (3.4b)
E, E, o E,
2==2A, P = 3.4c
c c Mo P c 4 ( )

Check that the length of the spatial momentum of each particle in CMS is:
12l =12] = 1Pl = 15l = |7, cosh@ (3.4d)

==
“E, +E,
For the calculation of x,* in 3.3b, we think as follows: Map the world lines of P1 and P2 in CMS,

before the collision and demand that: a) when P1 is at the point (O, -a, 0,0) according to the LS,
then the world time t' in CMS is zero, b) at the time ¢, = i, P1 is at the spatial origin of the LS,
v

0
then P1 and P2 are both at the spatial origin of CMS. In the language of mathematics, we write:

6
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From 3.3b:

ct' = ct - xN\° + x,°, X' = —ctA}' + X' + x,' (3.5)
The world line of P1 in CMS:

ct; = ctA’ — (vt —a) A% + x,°, x| = —ctAt + (vt —a) At + X, (3.6a)
The world line of P2 in CMS:

cty = ctA® + x,°, X, = —ctA' + x,! (3.6b)

From 3.6a, for t =0, x, = -a we demand t; =0 It is implied that: x,° = -aA°

For t = 2 we demand x; =0 Hence: x,' = @/\01
V0 V0
We infer that 3.5 takes the final form:
ct'=cth’ - A’ (x +a), x' = -cA} [t—ViJ+x/\11 (3.7a)
0
The non-zero matrix elements of [A,"] are:
Al =A'=coshf, At =A° =-sinhf, A2 =A> =1
The inverse of 3.7a is determined by the transformation:

ct = AP (ct'+an®) + A° {x’ ~ A Ej

Vo

(3.7b)

X=/\01(Ct'+a/\10)+/\11[xr—/\01%]

0
The world lines of P1 and P2 for t < i, in the CMS, take the form:
0
ct; = ct[/\oo —ﬁ/\f} X; = c[t—i](—/\; +ﬁ/\fj (3.82)
c v, c
cty = cth’ —aA®, x; = -Ac (t —Vi] (3.8b)
0

In the analytic expressions 3.8a and b, the free parameter t is the world time being measured by
the clocks fixed at the spatial-points of the lab-system. One can confirm that P1 and P2 arrive
instantaneously at the origin of their center of mass system (CMS).

Step 2
Calculation of the four-momentum and the analytic expression of the world line for each particle
in the CMS after the collision

y
P, P, l"z
L 4 . 2 g > X
K X P1 P 0
Center-of-mass -
inertial system " o
P", ‘.'\ o y
K \
X 51
~ 0
Pl’l2 : X
P>
Figure 2: The P1-P2 collision Figure 3: Motion of the

particles after their collision, in

in their center of mass frame.
the lab-system.



The double-primed quantities concern the situation of the system after the collision, in the CMS.

According to paragraph 2, during the particles' collision the following statements are true:

a) The four-momentum of the system is conserved.

b) The total spatial momentum in the CMS equals zero.

c) The direction of each spatial momentum does change: the spatial momentums after the
collision are placed on an axis forming an angle © with the x-axis. The value of © depends
on the details of the interaction-mechanism between P1 and P2. In our application @ is
considered as an arbitrary parameter controlled by the user.

In the CMS, it holds:

" "
"_ 1 " " " __ 2 " "
Pl _eo?_‘_elplx +e2P1y’ P2 _eo?+ell32x +e2P2y
" " o_ ' ’ " "o " "o
Ef+E;=E +E,, P +P,=0,P +P, =0
E" 2 . E" 2 .
12 _ Fi”zz m12C2 , 22 _ lDz” 2= mZZCZ
c (o

1
C2
Hence:

(m?-m?)c*

El +E,

m? - my?)c* m? -my?)c*
gr-t E;+E;+M JEr=1 1'+E;-(1—2) (3.9a)
2 E| +E, 2 E; +E,

The length of each spatial momentum is calculated by the following equations:

(E7 - E5)(E} + E5) = (m? -m)?)c?, E} - E} =

"2 "2
Pl” _ Egz —m12C2, Pz” _ ’Eéz —m22C2 (3_9b)
...and their coordinates (figure 2):
P, =-P;, =|P|cos®, P, =-P;, =|P'|sin@ (3.9¢)
Check that: [P"|| =[P,

We now derive the analytic expression of the particles' world lines before and after the collision,
in the CMS, with free parameter the world time t measured in the LS. The following equations are
true:

" " " " "

AN E1 "o Pl; _ 2 'D]_x "o 'Dly _ 2 'Dly "o
Y(V1)— 71 Vix = P Er' = ~=C Fl 12_0
mlc ml Y(Vl) 1 ml Y(Vl) 1

" "

"y _ E g "o 'Dz”x _ 2 i "o P2y _ 2 i " o_
Y(vi) = —25, Vi, = — 2= =C 25, Vy, = —— " = V5, =0
2 2 2x " En 2y " Eu 2z

mZC m2 Y(VZ) 2 m2 Y(VZ) 2

From 3.8a and b, and the previous equations, we deduce the analytic expressions:

c[—/\o1 +/\11‘/C—°]{t—vij fort < 2

0 VO

ct! = ct[/\oo —%/\10} X, =

vl"x[/\OO—ﬁ/\l‘JJ[t—ij fort > 2

¢ Vo Yo (3.9d)
0fort<2

yi= ‘\//0 a a’ % =0
ny(/\oo_?o/\oJ[t—v—O] fort“>V—0



0 VO

_Aoc[t__j for t < 2

cty = ctA’ —aN’, x; =

AV (t——J fort> 2
V

v
0 0 (3.9¢)
0 fort < a
’ VO ’
V2= a a' 2" 0
Oyr |t —=| fort>—
/\0 Zy[ Vo Vo

Step 3
Calculation of the four-momentum of P1 and P2 in the LS after their collision - Derivation of the
analytic expression of the particles' world lines in the LS

The quantities with a bar concern the situation of the system after the P1-P2 collision, in the lab-
system (LS). According to the previous steps, we obtain:
Pl =PAY B =PAY

E E” ” _ EI! ” _ .
DTSR A B = DA R AN B, =R (3.102)
E_Bpipn b, =Enrnp,-p (3.100)
2x Y 2y '
The spatial veIOC|t|es of P1 and P2 in LS arise by the previous equations:
1/2

E 1
V(V1):mlczlv1:C1_ — 2

L (E,/ mc?) (3.11a)
- R 2P A

E, 1
y(v, :mcz' v, =¢C 1—_—22
2 (E, / myc?) (3.11b)
_ P P _ P, P,
sz:P;X—ZCZEXI‘/zy: = :CZ%
mZY(VZ) 2 mZY(VZ) 2

From 3.11a, b and 3.1a, b we derive the world lines of P1 and P2 in LS, before and after their
collision (figure 3):

(ct,—a+v,t,0,0), t < vi
X, (t) = ° (3.12a)
{ct,le [t—ij,vly (t—ij,o} t>2
VO VO VO
(ct,0,0,0), t < <
Vv,
X, (t) = ° (3.12b)
_ a) _ a a
ct,v, |t——|,v, |t——|,0], t>—
[ zx[ Vo) Zy( Vo] ] >Vo
The angles 0,,0,,0 = O, + O, depicted in figure 3 are calculated by the equations:
O, = cos [VT], O, = cos™ [@j O = cos” [V_ 4 J, 0,,0,,0ec(-n,n] (3.13)
v, v, Vv,

Return to the contents

9



Paragraph 4: The Newtonian model of two-particle elastic collision

According to the Newtonian point of view, the steps of paragraph 3 are modified as follows:
Step 1: Derive the Galilean transformations that relate the lab-system (LS) with the center-of-
mass system (CMS) of particles P1 and P2. Calculate the energy and the momentum of each
particle in CMS, before their collision.

Step 2: Calculate the energies and the momenta of P1 and P2 in the CMS, after their collision.
Derive the analytic expressions of their paths in the CMS.

Step 3: Calculate the energies and the momenta of P1 and P2 in the LS, after their collision.
Derive the analytic expression of the parametric equations of motion for each particle in the LS.

Step 1

The Galilean transformations that relate the lab-system (LS) with the center-of-mass system
(CMS) of particles P1 and P2 - Calculation of the energy and momentum of each particle in the
CMS before the P1-P2 collision

The analytic expression of the Galileo transformation relating LS and CMS is determined by the
equations (figure 4):

U=t,xy=-Vt+Xy+Xo, Yy =Vn1Zy =2y (4.1)
...where v denotes the center of mass velocity in the LS.
The analytic expressions of the particles' world lines in the LS

=y
1}
=l
o)
ol

before their collision [t < vij are:
0
Xy =Vot—a, ¥y, =0, 2,, =0 (4.2) 0 %
XN2:OIyN2:OIZN2:0 5
The same paths in the CMS are expressed by the equations:

Xy =(-V+Vo)t—a+Xx,, vy, =V +V, o X!

' _ '
Xy, = —VE+ Xy, V),

From the definition of the center of mass, we result that:
! ! ! !
mXy, +MmX, = 0, myy, +myV,, = 0

=-v

m, Figure 4: Connection of the
m, (-v +vy)-my =0,v= o m Yo lab-system with the center of
1 +m2
mass frame.
m
m, (-a+x,)+mx,=0, x,=——2=1—a
1( O) 2770 ! 0 m1 +m2
Hence, 4.1 is written:
m
t'=t, x, :——1v0(t—iJ+xN
m, +m, Vo (4.1a)
y/’v =Yy z;v =2y
a . . .
The paths of P1 and P2 for t < — in the CMS are determined by the equations:
VO
, m a , m
Xyt = : o E=— 1/ Vaix : Yo
m, +m, Vo m, +m,
(4.3)
VL W vAY ) RV S L WY
N2 ml +m2 0 VO / N2x ml +m2 0

The energies and momentums in the CMS:

10



2 2
C_mm? s mmE
N1 — 270/ N2 T 270
2(m, +m,) 2(m, +m,) (4.4)
m,m. m,m
p o=—M o op T p P P =0
N1x m1 + mz 07 " N2x m1 + mz 0/ " Nly N1z N2y N2z

Step 2
Calculation of the energies and momenta of P1 and P2 in the CMS, after their collision - The
analytic expressions of the P1 and P2 paths, in the CMS

According to the energy and momentum conservation, we obtain (figure 2):
PI\71+PI\72 :Pl\,I1+PI\’12:0

E' E _ —E" E" PI\;I 2 PI\'IZ 2 _ ID,\,;1 2 P/\II'Z 2 (4_5a)
m e = Em T N o o m T 2m, T 2m
1 2 1 2

PI\,Il ’= PI\,I,I ’= PI\’IZ ’= 'D/\,llz2 (4.5b)

g

..where: P, = H'BNI

Hence, the velocities of P1 and P2 after their collision [t > viJ' in the CMS are calculated by the

0

relations:
P/\’/’1=P/\’/11Vﬂlzﬁval\’/’zzpl(lzrv;\’/z:ﬁvo (4.6)
Vi = ﬁvo cosO, vy, = ﬁvo sin®, vy,, =0 (4.7a)
Viax = _—mln}mz V,COSO, vy, = _—mlnzlmz V,Sin@, vy,, =0 (4.7b)

The parametric equations of the motion, for each particle in CMS before and after their collision,
are determined by the equations (4.8a and b):

a
LVOEt—EJ fort <2 0 fort<—
. m, +m, Vo Vo v Vo (4.82)
" m, a a m, a).. a '
—=—V,|t-—|cosO for t > — ——=2—V,|t——|sinO for t > —
m, +m, V, Vo my, +m, Vo Yo
a
—Lvo(t—i) fort <2 0 fort <—
, m, +m, Vo Vo , Yo
Xy = Yna = m a a (4.8b)
—LvO t-2 |coso fort>2 ——1v0[t——jsin6fort>—
m;, +m, V, v, m, +m, V, v

z,, =0and z,, =0 for any t.

Step 3
Calculation of the energies and momenta in the LS after the collision — Derivation of the paths'
analytic expressions in the LS

The inverse of the Galilean transformation 4.1a is:
X =Lv t—i + Xy, Yy =VYn, Zy = Z)
N m]_ + m2 0 VO NI N NI N N

This implies the following analytic expressions for the paths of P1 and P2 in the lab-system:
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a
vo(t—i] fort < 2 0 fort <—
Vo Vo Vo
Xus = o M T my sino a a (4.82)
mamcos0 (a8 a L(t——} for t > 2
m, +m, V, Vo my, +m, Vo Yo
0fort<i 0fort“<i
Yo Vo (4.8b)
Xyy = Yo = . .
myv,(l1-cos@
Vo ( )[t—i] fort> 2 —mlvo—s'”e(t—iJ fort>-2
m, +m, V, V, m, +m, V, V,
Zy, = Z,, =0 for any t.
The velocities of P1 and P2 in the LS are:
vofort<i 0fort<2
VO VO
Ymx T\ L m cos@ a Ymy T\ mov sin® a (4.92)
L 2"y, fort>— —207"" " fort>—
m, +m, Vo m, +m, V,
0fort<2 0fort<2
Vo Yo (4.9b)
Viax = Viay = . .
myV, (1-cos0O) fort o @ _Mmyesin® o a
m, +m, Vo m, +m, Vo

The angles formed by the velocities and the x-axis after the P1-P2 interaction are calculated by
the equations (figure 3):

m, sin® sin® = = =

tan@,, =—2> -  tanO@,=-———,0=0,,+0 4.9¢
M m, +m,cos@ N2 1-cos® N e (4.9¢)
The scalar product of the final velocities in LS is:
L m,(m, -m
Vg Vy = Mvoz (1-cosO) (4.10)

(ml +m, )2

The momenta are calculated by the relations: P, = myv,, P,, = m,v,
...and the energies:

1 1
ENI = Emlvmz ’ ENZ = Ernzsz2

Return to the contents

Paragraph 5: Activities

Define: A= % ("lambda", in the simulation), 0.01 < A <100

1
The light-speed: c=1
The initial speed v, of P1 is controlled by the user and takes values in the interval: 0 <v, <1
The angle "theta" formed by the final velocity of P1 with the x-axis in of the CMS, is controlled by
the user.

1. Record the positions of P1 and P2 in the CMS according to the relativistic and according to
the Newtonian model, when the world time in LS is t=0 and v, =0.1

a) Calculate the time coordinates of P1, P2 in the CMS when the world time of LS is £=0.
b) Calculate the x-coordinates of P1, P2 in the CMS when the world time of LS is t=0.

c) Repeat activities a and b for v, =0.6 and v, = 0.9
d) Check whether the predictions of the two models converge when |v,| << 1
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In the context of the relativistic model, for various values of v, by your choice, derive the

relationship between the readings of the clocks in the LS and the CMS, and check it in the
simulation environment.

For v, = 0.9 and lambda=1 calculate the velocity of the CMS relative to the LS: a) according

to the relativistic model, b) according to the Newtonian model. Check if the two predictions
converge at the same value wheny, << 1

The angle "theta" formed by the velocity of P1 with the x-axis in the CMS after the collision,
is related to the mechanism of the P1-P2 interaction. In the simulation, the value of theta is
controlled by the user.

a) For lambda = 0.8, theta = n /3 and sequentially for

v, =0.99,v,=0.5v,=0.1
calculate the theoretical values of thetal and theta2 (O, ©,) according to the

relativistic and the Newtonian model, and check your predictions in the virtual
environment of the simulation.
b) Repeat activity (a) for lambda =0.01,v,=0.9,0=n/2

c) Check if the predictions of the two models converge at the same value when |v,| << 1

In the context of the Newtonian model, for m, = m, calculate the value of angle theta, for
which the expected value of the angle thetal (él) is such that tan(§1 =J3/3

Prove that in the context of the Newtonian model, for m, = m, the angle between the final
velocities is always equal to /2 Is this statement true in the context of the relativistic
model?

For lambda=1,v,=0.99, ©=n/2 check the conservation of the total energy and

momentum of the system in the LS: a) according to the relativistic model, b) according to
the Newtonian model. Do the same for another set of values lambda,v,, © of your choice.

Return to the contents
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